Answer on Question #79315 — Math — Algebra

Question
Show that
1+i+...+i2m forneN, n>1.
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The function y = decreases on [L,n+1]. Then Left Riemann sum of y= !
f X

on [Ln+1] is greater than Riemann integral of y= \/_ on [Ln+1].

Since Left Riemann sum of y L on [Ln+1] is equal

Jx
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for n>1 we get

1+1

S+ >_[\/_dx 2\/_\ —2Jn+1-2V1=2Jn+1-2.

Then we need to verify the following inequality
2yn+1-2>./2(n-1),
4n+1)+4-8Vn+1>2(n-1),

4n+8-8Vn+1>2n-2,



2n+10>8Vn+1,
4n® +40n +100 > 64(n +1)
4n* -24n+36>0,
n>-6n+9>0,

(n—3)*>0.

Therefore, 2Jn+1-2>.2(n-1) is true for all nx>1.

1+%+...+i22\/n+1—2 for n>1and 2vn+1-2>,/2(n-1) forall n>1,
n
1+i+...+i21/2(n—1) forall n > 1.
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